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1.  The resistance of LDR when exposed to radiant energy.

(A) remains unaltered (B) increases

(C) reaches maximum (D) decreases

LDR 1 SR w1 faferroft Sl Wﬁmél

(A) SRl g g (B @R

(C) afrepan % TETdI 8 (D) wedl 8

2. The capacitance microphone is used for the detection of
(A) Heartrate (B) Blood flow (C Heart sound (D) Foot pressure
TR HIShIBIH

fras dgea & R s BT @ ?
A) AT (B) WWE (@ T@ER (D) TR

3. Which is the smallest measurement that is possible by Vernier Calliper ?

(A) Least count (B)" Actual reading
(C) Main scale division (D) Vemier scale division
Bler A S ARG ESE e P
(A)” IeaqqTh (B) dTifae: g
(C) & IHHLIHY (D) e ST SHTT =

4. Hygrometer is used for estimating
(A) Water vapour content of air (B) Water content of soil

?C) Capillary potential of soil water (D) Specific gravity of liquid

STTehei B ETSUTHE 1 ST BT & 7 .
(A) TG % e 19 T (B) W&l % JARI
(C) T et & HiAEh foa (D) 7@ % fa¥ree Teea
5.  What s the full form of RTD ? .
(A) Resistance Time Damper (B) Resistance Temperature Detector
(C) Resistive Temperature Diode (D) Ratio of Time Difference

RTD %1 0 9 H1 ?
(A) ﬁﬂgﬂ 25 3R (By e e foat
(C) Fafeea Srt=R /IS (D) R 3w zrgw e
6. A device that transforms one form of energy to another is called
(A) Transistor _ (B) Transducer _ (C) Transfogner (D) Transmitter
!

S € R Sl b T T B A 1 e |
a) g (B) Zgeg@  (O) TERER (D) gl
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10.

11.

12.

13.

Which is used for temperature measurement ?

Venturimeter
28 '{dhennn?ecg:ple ]%‘S Rotameter
ano
ATIHH 719 % foe e sam e @ 7

(A) wiwww () ¥ (Q M (D) e

i i ure pressure directly ? <
?Xl;lcil\%t_;_\e fOllO\(\él;g cSatIrla‘i‘:\eggugep(C% Rotameter tube (D) Bourdon tube
il N e s A Ewa § 7

(A LVDT ®B) S (C) Yerfirga (D) N egm

PLCs are used in

A) Manufacturin ' Automation
§C)) Boatll]1 (A‘; and %B) EB% None of these
PLC Yg= 81a &
(A) fmtor - (B)/zaaraqﬁ
(C) (AR (B)QTHF (D) s A+ T
The household energy meter is
&A) Indicating Instrument E‘B% Recording Instrument
C) Integrating Instrument None of the above
(A) gF=a= (B/aﬁamzia
(C) T 45 (D) IT & A i 7
?\?icllg igg lthéeotl':)tlrlg]\\glx‘)’fn ertl:tment is not u]ssed iélezll;; 3utomatic Control System 2
Oscillator . %D Error detector
ﬁnﬁ%%&mmmﬁmﬁawmﬁmqﬁam% ?
(A) If=m v as | (B) Waew
(C (D) IR Fgm=

The insulation resistance of cables,
instrument ?

gAg Wheatstone bridge ng Kelvin bridge

C) Meggar D) Decade box

*Had, AR aﬁwﬁga-ﬁwuﬁﬁqﬁﬁammwm% ?
(A) ErERag (B) Ffemdg (o) (D) < =g
It is possible to extend the range of an A.C. ammeter by

usi
gA; Inductor coil ng

gB; Capacitor
C) Shunt D) Current Transfop

ﬁ?ﬂ%mmmqmwaﬁmaﬁmmg ? Mer(CT')
(A) " HUSE (B) wuifm )
(C) A (D) T gy (c)

transformers etc. ig measured by.which
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The condition for the maximum efficiency of the transformer s that
(A) copper losses are half of the iron losses.

(B) copper losses are equal to iron osses.

(C) copper losses are negligible in comparison to iron losses.

(D) iron losses are zero.

TR ) Jrfirean qaT % fere arewn -

(A) T g, e wiivl ot amh |

(B) W g, EE 1) o FUa R |

(C) T g, it afya ) gt A €

(D) s Eal AR |

The class C insulation can withstand
T C feee- QU T ¢ Fe1 @

(A) 180°C  (B) 150°C ©Ac (D) 105°C

The torque in the case of a wound rotor induction motor

(A) Increases as rotor resistance is increased

(B) Decreases as rotor resistance is increased

(C) Remains unaffected by increase/decrease of rotor resistance
(D) Is maximum when rotor is shorted |

UERTe L ST I i FeT & a3t -

( Y oo H A TG 8 |

(B) Jet ety 9 % T qeag |
(C) ﬂawﬁrﬁwa@/ﬂzﬁ%mmﬁﬁm%r =
(D) At g & 7 T Y § | -

Stepper motors have applications in

(A) coil winders (B) fax machines
(C) lifts and hoists (D) compressors
D A F AT & .

(A) e aIEvEE A By e ettt A

(€) fow s A (D) FHE A

The yoke of a DC machine is made of
(B) Carbon (C) Castiron * (D) Silicon steel

(A) Copper

2.4, et <51 2 T 0T 8 -

(A) FIRH (B) HEH H
(C)_FRE TaH FI (D) fiferenia &iet 1
For safety, the fuse should be placed in

éA Effortless cable EB; face cable
C) Earth cable D) None of these

¥ fou g ST 11T -
?X?Tmméﬁgmﬁ (B)/é;-ﬁmﬁ
(C) y¥FEad (D) FHAFETE
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20.

21.
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25.

26.

In a CB amplifier the maximum efficiency could be

CB va¥& & a1ftreraw garan & =fet — o
(A) 25% (B),/50% (C) 75% (D) 95%

The encapsulation of transistor is necessary for ‘
(A) Preventing radio interference ~ (B) Preventingp
(C) Avoiding loss of free clectrons (D) Mechanical ruggedness

IR 1 TR NI ¢ —

(A) R st et F Rig (B(@a-mmﬁﬁ%%ﬂ
(C) T ez A gif oer H e (D) aif ggea & e

Which of the following is used to obtain output position in a position control
system ?

(A) Strain gauge (B) Loadcell (C) Synchro (D) Thermistor
feufa Forror yromeft  forta fRufa e 5 & forg et & & P s g1 @ 2
(A) B B) w@ed@  (C) fami @®f uffex

What is the purpose of peak clipper circuits in radio transmitters ?

(A) To prevent over modulation  (B) To reduce bandwidth

hoto-emission effects

(C) To increase bandwidth D) T late oscill
e et A e R 7
(SR ST (B) dve ferd wert & Ry

(O)NSTE TR A Y (D) & UP Seean fram 3 e

The universal gate is

(A) NAND gate (B) OR gate (C) AND gate
e e 2

(Y NAND# (B) OR%  (C) AND® (p) T
A loop antenna is a commonly used for

(A) Radar (B) Direction finding
(C) Satellite communication (D) All of these

o9 e 1 i | foheeh o fRar s # ¢
(A) TER (B) femsm@®@ (C) 3Iwmgwun Mmﬁ
Which of the following circuit elements will oppose the chan

current ? |
(A) Capacitance (B) Inductance _ (C) Resistance (p

ﬁqﬁammqﬁqumqmmﬁm@mmg All of these
(A) wrfn (B) A (G)\/ﬁﬁﬂu (%

(D) None of these

8¢ in circuit
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27. For a P — N diode, the number of minority carriers crossing the junction

depends on
(A) Forward bias voltage
(B) Potential barrier

(C) Rate of thermal generation of electron hole pairs
(D) None of these -

-Nmu’rs%%q Wﬁmwaﬁmmﬁmﬁﬂtm%—
(A)-3T 19 et
(B) fvE yRw

(C) T Rfdy 3w gr1 a9 99 il AN
(D) 3 | =i T
@ For making a capacitor it is better to have a dielectric having

(A) High permittivity (B) Low permittivity
©) Permntthty same as that of air (D) None of these &
nggj;i’ﬁ S WEgd eI @ | =
. &y = faegasfieran
(Qjﬂ‘% ga frgasfierar (D) T QI T
29. A moving iron ammeter may be compensated for frequency errors by
(A) A shunt resistance (B) A series inductance
(C) Shunt capac:tance (D) Series resistance

efrex amgfer Fieal & T Toh R WHHTRE T wohell € —
(Mrﬁiﬂﬂ (B) Ihiwa (C) wewhkar (D) Hofi wfdw
30. When the frequency is decreased, the impedance of a parallel RL circuit

(A) Increases (B) Decreases

(C) Remains constant (D) None of these
aa SR} yredht & 7w FAT=A RL aRaw <61 sfcraman —

2 (B) wedfiR| (C) Prawht| (D) FHAFTH

31. The armature voltage control of D.C. motor provides

(A) Constant torque drive (B) Constant voltage drive
(C) Constant current drive (D) None of these
7 ST Sieear P FgH FdT 8

(A) ma;ﬁ T (B) frua Sicear 9™

B (Sl (D) ¥ HIg TE

32. Swangla, a scheduled tribe community in HP live in which valley of H.P. ?

(A) Kunihar (B% Doon (C Kxarda Doon (D Pattan
w7
(m B) & (C) Framgiga (D) ¥em
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barls ol
- . seioanl TEF ape svin
.‘:.l. 10Tt trhsmipmsnis isilatde I:|:'|m_1!_ villied s il . ! ,
Vi S T Easte gy apem (0} Vibamgzaien €0 Maone of these
ané rivr] o seaw nlal an yrer #alt mnen 1M T LR

\j = LITER=T KT Ly ApdvErn (D) %0 3 anrd
AL =

14 e prestest 1oy prlaitedein i vl Yo -:'||||.,||| Imnlnlll._rq.‘d 113 which 'ktl':ill"?i-i.‘l ol 11 “

(A) Homipnt 01 Rilspas () Kang “:J' Chitmby
Ers FTReRE T N ST e v & By B w7

(A} RIS ity Feemrp () e (13) =

18, {ondhla Castle s located i whaeh distoce o 119, 2

(A) Siruou (W) Kuwmgur — (C) Mandi Dy Lahil-Spn
tigen A et wad & Ty fad i Bam g

(A T (B) IF=n (Cy =y (1) 7ree - =ik
Who has the distimction of being the voungest in the world 1. chimh Moun
Cverestan 1993 7

LAY Dacky Bolma () Samtesh Yadav

(C) sznan Kawat ) (121 P.T. Usha

F993 H HTIVE UARE WA aven fava i yun € aven fafee wim b g
(A) BFE LR (B) mAMAmER (O A=A (D) DA

7. Which district of HUP. is largest producer of Ginger ?

il.

tA) Shimla () Sumour (Cy Rullu (D) Una
fe=ram wgn &1 =9 = Foen sere = haE T Ry
(A) fanen () fa=h (Cy Hedg (D)

Mihmoed Ciharni plusdered Nagarkot in which year ?
FEE T T T F1 e ad § e
(A) 1009 A i3y 1006 AD (Cy HOZ5 AD

Dxalar Lama came to Dharumshala in which year ?
zers e fen 4w s

LAY 1947 AD (B) 1932 AD (C} 1939 AD (1))

(13} 1026 AD

196l AD
The only dynasty wiiich has is genesis in HP is
(A) Katoch (B) Varman  (C) Sen (DY Chandel
v T fae el A v R -
(A) FZ9 (1) =57 (C) #=#A (1) ==d

Who was the irst Chief Justice of HP ?

LAY HL Beg (B) MO Mahigan(C) VK, Sharma (1) DK, Sharma
1371 F T4 g AR Ee d 7

EYR (B) ma.HEL GEMA (C) 4L ami D) A5, ol
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49,

e n e e

Whick of (e follomwimg wi miersed Witk pip i g

LA SN ALV lumeha r'_“i Mairdy (i Bdaspdl
fae st iy v o s B et W A hamy p gy

EAY Feny (E9) = 01wy (1 S
SMani Maneal tahe v vavaabed 08B Qe oy pp 9

LAY Chpsha (1} Solas M) Mapmprpue 0 RanEss
yFmR ey SperA WTN W T Fara By

LAY TR (Hy 3T LS 4y AL
Sukets 4 o frabetary of wheeh over ot R

(A Peas bty Satha W Yamung i B
LA 0T iy AAES (L ag |11y T
Tattapumne, famtis for fop water SRS, s m whiel deanet of Y
(AL Mands (i Stumda 100 Rully (T3 Kangra
cesrmarfe ik et i s o fei ST TRATIR v B S P T iR R
(Al mA (11 Tl AN B (fyy EETS

Whch i 1S wefldraics Smmanr Thoe Shnta
(A Chundlar  id Dhasladhar (00 Showghn 13) Jaskat
s 8wk Faals o FAges 8 sEnaT &

(A} H3um By WTETHE 'y R (lyy HrEET

The munn changels of our Erowledge sbont the Indus Valley ¢ivilization are
(A Inscripiions VY o

() Palm and barck leal mususcrpis (D1 Archagologcal excavahions

e Wrd) Al i wW R T AT S o R

(A) sifcm ) = % i

(C) BT 3 ars 7 weghahat VD) T T o

The fmows ruber of ancent Indea ad, towards the end of his Wie. s sind 10
‘have convered to fansim’ 7

(A} Saomudrsgupts tBy Bindusara

(0 Chandeagupta Mauryd () Asheks

T N T TG TR W AT S TR E S Ol | e g 7

(A} HEETH IR E-cit () S EE (1)) s
[Nirine the time of Harshavardhani, 3 preat Buddhist assembly was held 4
(A} Patabiputes (B Malanda U] Prayay (1 Purushapera
THENA T TIE T AR R AR s

(A) AT (18 vt (€] =9 (1) PR

iy e S, ¢ 'i:'-HI.‘.l'lll'.!l-'HFIr'i--['



E.
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80, Befoie the rise of Ranjit Singh, Puniah wee qon the ¢ontrol of

(4) Masatha Commandees El Raider groups
Tribe! Chicfs Sikh Mlsla
() B 3 7 % WA daa e 'Eirq-m

(A) T dwin (B) SRR (c wm ) T e
“ The cutt of Krisho is mainly exhibiteg through the
LAy Mughal scl;j,;iuc;t Ast {E} guumnt An -
5‘;2?11 %ﬂiﬁlﬂ%ﬁ fameek 70 Hﬁﬂpﬁt wngal School of A
Sy {A) e e (B) FEE =T (©) o i mﬁmﬂm
; Thﬂ* First hattie of Panipat was Hjugﬁthﬁhumﬂ

A)  Akbar and Hemu {B) Hemu iand RBabar

() H and Sher Shah Suri (o) B, :
;:;;;:u S BT 7 ibrar and lbrahim Lodhi

'3. } FEET A 18} iﬁ_aﬁ‘t HTE
. O o s dmm i (D) = 3t i ot
D'fﬂkmai #vilem was introduced by

m‘”‘*‘?ﬂhf‘“ﬂ (B) Brahmegupia(C) Bhaskera (D) None of the:

TEE & 7
L A srivze B) " ©) wmw (D) A=
P;hé! attended all the three Round Table ‘confersnces ¢
Y Madan Mahag Malviya (B) Annie Besant
) Mahatma Gandhi } E R. Ambediar
i ._.,__' nTE.:' W
| ek, EB:I *1?1 s

(D) 3w, sndza
M:ataram wis first published in

"ﬂmn;ah (B) Harijan C) Késari A
T AT FaE "gjﬂm_ oA | s ki i
_-_-E-*'ﬂ TEERE () womd (o) Ra0d

g s (D FA=Eas#
i Qﬂﬁ India Movement started at
{"ﬂ Dethi on August 15, 1542 (B} Bombay on August 8, 1042
ALY Lahore on July 7, 1942 (D} Wardhs on August 7, 1942-
; Fiaem m
_{a!q 15 A, 1942 & 3 (B) 83, 1942 Wi
© ??ﬁﬁﬁ I%Iﬁﬁl‘iﬁl‘tﬁ (D) 7wmaE, 102 REd |

T e B e et e g — e B B e BT

Euﬂﬂh E-almﬂussmu C 10
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1.

T!-'IE Firsl I:"-I'l_lﬂﬂiﬂ:l. iy b “]ﬂ.‘.!ﬂd o y e [Ttﬂiilil Hmimtarr
{(A) Badruddin Tvabj E}dﬂ': 1':1 \iphanimad Al

€y Miaukzno Azad a4 A Jinnal
l-;rﬁ?ﬁﬂnrm#mﬂ?ﬁ'ni‘n mmﬁaﬁﬂﬁﬁgﬂhwgﬁnﬂ: -

(&) sEvEA AgE (7 T A

(C) Wi 30T S el

The Grepr Mutiny of 1857 broke gut gunng the Govemor Gmlﬁr% o
(A Lomd Weliesley (%) Lord Hordinge

(C) Lord Dalhousie (1) Lard Canning

1557 H o Wit e mh e e s B T e
(A) s TS (B) sHEll (o wEsoE (D) TS
The intsgration of indian states 15 the uchlevementof

{4 Rajendra Prasad () Vallabhbha Patel

(C) Mahqpnu Uandhi . (D) Subthush (handra Bose
WTEHL-Url s Forelt e o) 7 .

) Wmwmw  (5) aeemmipm oy Temnl (D) DA
Indiais a dfmmrm*lﬂ"rﬁpuh]iu., hedhise

LA m"-""f- (= independence of judieinry

l-g:" Hie Head of the state is elected by the people

¢ } there 8 distribition of powers between the cenire and the siates
(D) there is Parliamentary Supremacy

WIGT %3 W \smTi-neh T 2, sl

(X) matemeiae mesh | %%g
tBY. T T s SeT 2 et e 1 |
£C) el F2 vl 1t K i i e B

(D) =i s welemmn 2 |

Whe presides over the Lok Sabha i aEiihe
Speiker is availahle 7 ueither the speaker nor the De

(A} A member of the House of Poonl inted by the -
{.E} A member chosen by Eﬂmﬁﬁfﬁiﬁﬁ;ﬂ el
(C) The senior most member of the Rajya Sabha,
(D) Thi:gﬂinr mus%n;anihﬂr of the Lok Sabha.

] Bl S HI 0 R MY 30w 3R T Tuwen wl
(A) TR BT HAHT i w5 o= R
(B) wft 9hrs G701 w51 et e
(C) g wwy = Sy wem
(D) e v a1 aheay geee

—

e
S

e e 1 i
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ol Bajya Sakha 7 (D) Prime Minuter
Wiis 0y 116 ax-0TRc chams ?LH“}%EEEEFWEH“

: Wiee Pesitient
i e sailent s | ¥
i o 33 i A

e (o) e i

ry prata (H) =T, 'l:j :

B0 i e ghvatilian of Pykhic Purve? () NITY Amyog

I?'T .i :::.-:u.q.' LRI TR TR : (L) None gL i

Wik ot o Y wie AR P zmam (D) e Eﬁi“ﬁ
(A} & (B Ay e s |

Mhevivn e Tor hegmming Lok Sebhn mgmber is
m o .

: 30 year
). VK pear () 21 yihrs (C) 23 years (D) bt
iy 4 .

POV R B 3
LAY 40 sy (Y s
""’51; Fiya Aot Pl woak banneled

b R e 2 R R b R mﬁ#_* ;
b LR BT T g (Dy 305 b nd
2 ‘:;”mm. uf  the |!rr4:-|;'lhmiﬁl’ﬂ of electoral rolis for Parb
s vesty with (he -

MY Clabined (Y Prime Mingster
{t ree iy _{13% Eleetion Commission
Wﬁ'ﬁ_aﬁ_r :'fh;::fmm-'ih b, P ampeed) £y Sach ﬁ-ﬁwﬁﬁﬁﬁﬁat 7
( ey g () oy (1) AT e
1|IIIiI1"-?ﬂh I noy 4 oo body 7
1“'..’1 NIy Nivyop '

LTS

B Plection Lbmmission
hl} Fibaviee U omimission

W0y vpse () @ wrfm

. ' N which vear 7
AR REL TR - Ao ey

_ B 7

(A} 1ys (MY jesq ACY 1960 N 1966
The hemliyaines of R iy

(A i Fhe iy LI Mg {1y

Ui AT Rl Tt 4 g
CAY a8 fan |

Undber peyfegs CURMW A iy
LAY any T W ey

(Y fem e Supp
() Ayt can WG 1

y
|13} A Tk ¢an v e

P i the matker

S e wad

Bengaluny () Hyderabad

(L iﬂ’ﬂh (1Y m

W e markey
PP I the market,

' AR and supbly e ke,
o} v inn % MY v &

LAY 08 38wl e ) s
(0w s )

Y o Wl by

A0 v gy |
WY Y ol s ﬁ:{‘ﬂa ST

(Y i o ek v R g ade ST Y e

Cotbe N s Colt YIS erken

SO o i wdi
LRI LAY
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T3,

15.

76.

Seasonal unemployment efars g

gotor (D) Privage
(AY E‘imk!; mj hbfiﬁuim¢ () pyhtic sectd ﬁ%
L #m (D) ﬁiﬂﬂg
'U’b,';l 'i"ﬂ.’n IIrE'-l Ef,ﬂ 0 Hﬁiﬁﬂ:

An enterprice s teomed @ sick MR P
(&) F:srﬂmmg e persistent lusees (g s operstios ﬁ&it)'

(C) fannot inoressy 108 sales = 0y allof these
T TN B T SR T A e e N
(A} TR R W R (o s A Nt

(C) wrnissmafismannly (D] Egmﬂ =
"How old 1» Eaniin” 15 decided by Wwhich of the follow g DTOCER!

CA)  Geologw Time Scale (R Radi i [anng
(C) Gravity Metliod R

(D) Fossil I_m*;gl
i@lhmmwf% ﬁmﬁﬂfm -irrrf':ﬁ_‘g;t;]ﬂ‘?
(B} fisquees
© 15?'“:# (D) S T
The study of the

POCALEes O BUnosghere 15 called as
(A) Astralogy

LB} Meteopolngy (C) Ssismology (D) Astonomy
Rﬁmm T TR ) e ey 2

) FEi=T (B Sizammss {Hfﬂﬁiﬁ?ﬁ (D) ?'-R“ﬁ'fﬂ’l
Iis

h’xg Line which conneets north wnd south poles _
rnngmﬁ--l'u e which TSRS around the Barth 1o the centre of DT BN
£
: rﬂjﬂ around the 'Eiu.tum '
(H?l Amsgn; the retacion of rJ-w.-.-Ea:&. @
Wm
(A} ﬁﬂﬁf%ﬁm:}%ﬁliﬂﬂmi i
B) =renirm o o0 vey sioehey *ﬂq“ﬂﬂﬁ?ﬁ#@#{ |
(C) ¥ wem sn o = ¥
(D) =& oo w g
W hich mﬁ&.hmmtm; ok 7
{A) Grasite Marbie (€) Basah D} Li
Aol & i _} ) V2§ Limestone
(A) Zam (B} wrws (C} "o (D) srgemy
Which city is locsted on th & of tiver Patumsas 7
}A} B-:rtj'm o (e et 1&} Iﬂ;mﬁh.iﬁi
C}, Muadrig

Washington D.C.
mqﬁ%wﬁmwﬁuﬁﬁ 7 -
(A) == (B) s=mmr Q) 5= ) s & ;

s _w_lr =)

'._I.i-lill: b TR E‘[m:m



a
™ Which of the fidhow INg 18 leaxt likely e I Vet of El-nh'l-“ Wﬂrmin:ﬂ. !

(A1 Increased Irequency of hamcanes
|||} E ML KLl li.'ﬂlh".‘ lll.‘“ﬂ. as fog .I'Ill_l'li."l.llﬁﬂf
Y Dreereased tale of prhudes ey it nis in 1'#““1{1“!‘3“

i Shrnkang of 1the polar jce Feghisna
}a-.:u‘: # oY @ AR arr w9 anen et R sagye wvra R 7

A} ﬂﬂﬁaﬁf-"ﬂﬂ'm‘rm 1) ﬁthﬂ:gmﬂmﬁ
() aE R - we o) e (D) T wdle A Har

T8,  Dark continenl is
(A} Afrca (B Souh Ameniea(C) Australin - (D) Eusope
3 grigh B
{A) WER (B afww swha (O) sigfam (D) 7

. Which 15 known as Sahyvadn Mountmn 7

(A} Eastern Ghats B} Western Ghats
(Cy Shivalik range (D) Vindhya range
e Er R FT A I AT R

AR Gk (R ufFeEd ar
() Terartes gaamen (1 o i

80, Whach s the longest nver of Pemnsular logia ?

(A1) Krishna (B} Cauven (U Narmada (D) Godavan
rgrda wieA ) gaw e s @ i ko

(A) TUm (H) wm@Ed (C) TFe (D) "
Bl. “Mumbw High” s related to

(A} lron (Bi Peroleum (C) Tomb (D) Jute

e | et R -

(A) ¥ & (B WfEmwma () swend (D) WEa
B2. Onion is a modified form of

(A) Leaf (B} Stem (C) Root (D) Nene of these
TR fwEm FUrE =mEn § 7
(A) T¥ (B) 7m0 (C) 7 (D) %% 1 =1t 76t
83. In a food chain, the salar encr Fﬁ? uu’h:cd by plants 1s only
WTE - R qTE g1 e
(A) 107 (By 1% H'.II 0, 1% (D) 0.01%
B4. Sulluge water 15 waste water released from
(A) Kitchen (B) tailets (C) factories (D) hospilals
wferm-w %l & Fwen smfarz w@ R 7
(A} TEYE T (By e (C) ®HEE (D) e

e R —
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N6,

lTl

91.

92,

93,

Which Vitamun 15 001 found in and animal Yo

(A} Viggyin - B, (B)  Visamn -1 (LY Vitgmig - p (D) Viamif - »
W1 Pt fadd) ey viyora 6 ST TR

(A} famfaa H,_-i“! fgrf - C (L) ii*ﬁ‘Fg-_Lu () fa'z!'ﬂﬂ‘l':

Bile m secreted by

(A Gall biadder 1) Liver (C) Bile PDyey (D) Pancreas

wrTe fawarss o wifan T B 2

(A) g (B) wE0 () FRmfeh () F=

tn human body longest bong 18

(A) Femuwr (B Spinol cord (C} Hipbone (D) Nuone of these

wiTR Wi sn o) whiu k-

(A) Hnm g mEawd () () i A wE A

The hottest purt of gas flame 15 RNOWD 85

(A} Non-lumipous zone (B]  Blue zone m

g;'l Luminous zone (13} Dark zone
—— e E Rl

(A T A (p) Aenan (C) RfE (D) e W

The freczing point vf fresh witer is

W WA W (s R -

(A) 0°C () 4°C ¢y 4°C D) §HC

Which 15 not Electromagaeric in nature

(A) Cathode rays (B N-mays (C) Gamma ravs (D) Infrared @y
< & s & fag e TR 2

(A) S e (@) XAEW (O wmfEm () s R

Chemical name of vinegar 15

(A} Acetone (B] Atetic acd
C) Fermoidehyde (D) Ethanol
& eyt A

(A) THRER (B) whfrs e | FEEERWE (D) AT

‘India Out’ Campéaign 15 assotiated with v 'vh country ?

{A) Srilanka (B) MNepal (C} & ‘dives (D) Bangladesh
ofran sz sife e 20 5 W E ‘
(A) i (B} (€) W (D} A

India's first puse green hydrogen plant has recently  en commissioned in

which stale .
(A) Gujarat (B} Assam (C) West Bengal (1 Odisha

TR ] TGS T R RS e F A8 A T A
(A} THTHA |3y W (C) gfFEmama (D) e

T 76 Code No.: (8121022 Series-C



T
.

field . IR
it ) Literntore : . (D) Eluhﬁﬂ'
A) Sports (B) LT ey () Fine Arts % e
%wm_mﬁﬂﬁﬁﬂ Eﬁ,ﬁ?ﬁﬁﬁﬁﬂﬁmﬂ? ri
W wE @ T () aRmwer (D) =R

95,  Which Indian state/L'L recently passed o *Startup Policy . (0 Suppon !iﬁ

ftart-ups by 2030 7 S gt
(A) Assam (B} New Delhi (o) wamonan (D) Pumieh
P st T AT A 3 2030 7 35,000 w2~ 7 1 HEAm H 4
o £ 3 s el ALY g :
(A) 3r=A (B) T e (C) Traem (D} 9=

96, Which state rocently commemoTsted its 100" year of sports joumalisny ¥
A} Assam (B} West Beagal () Kevala (2} Tripera.
X TR ﬂﬁﬁﬁﬁmﬂﬁ (008 5 w7 wHTOTeEE BT 7
LX) arm (B) TR (C) e (D)

974 “BD' iz related to 'EG' and "MO' 5 related 10 ‘PR in the same way as T
- s related to o | )

‘BD e & EGT # S MO wlia 2 pre & o v, e wew RR

afim 2 g - .

WM m o ) 1L @7 IK
98, Ina certam code "GEAR' is wrilten as 5934 and ‘RIPE' is written as 4869,
%::li %l? AGE' émn cnim thatgede? |
Al [9T7EE @ R CGEAR' W 5934 % wa # Ty s & of RIPE! 91 4869
e o ww R | R ER H PAGE AR e w2 2
AT 6359 (B) 6339 (C) 4359 (D} G458 35
g 5 E"_ui:-l:lﬁqg ‘0 2 man in the photograph & woman says “He is the father of my
dau gm'r:_::lu-luw's brother-m-law™. How is the man related o the woman ?
(A) _Husnaud (B} Brother
{€) Brother-in-faw (D} Father
RN A 0 93 ) ST e ) g o aien w2, er i wmk d
i & | as-w@mﬁmﬁﬁma? "
LBy (B) s ©) z= m

10 *"m'm triveis 12 km west, then 3 kam towsaeds south snd then 8 ki towards
st o far s he from the starting poiat ? |

o A |2 km e L
wt_lﬂmﬁéﬁf%ﬁgg?mﬂmmﬁmmﬁﬂﬂ ,

= %} '5’-“"'”__“_ ® 2km ©  (€) Dkm
ﬁ%: "E-il mﬂiﬂg&?ﬁ;ﬁ ey -—




.-
101 In a row of 40 gicls, Wheo Kamala siss v ied to hee left by 4 plag “'E
number feom the el end of the row :aﬂ 10, What was the pumk i ff!
Sujzts from the right end of the row i'fs-u]ﬁm way (hvee places 1o the rjﬁrﬂ:ﬁ
Kamala sanemal position 7 gl
(A) 22 (H) 23 (8 35 (1Y) Noee of i
40 waban AN v e, T e 9 i a4 T TEEEE R R g
Fwar widt & ag (o | 10 2 mn | Wit = e S a0 ﬁﬁﬂﬂmqﬁ
S ) S T8 1 2 g g A1 7 R
(A) 22 @ 23 M o (D) =79 B o

. . Yy j:
13, Antonvig of *Miserly' s 1 e

(Al Hosmishie (B) Geserous () Extravagun! (T Fhllﬁtﬁild'm
1. One word substinstion for *A person whic makes and seils ladies S B s

(A Draper (B) Tinker () Milliner (D) Famer.
104, The President will be provided &l the facthties ho s entitled .

(A) of {8) 1o {C) by (DY s, 0g
105, Corretly spelt word {s o

(A) Optimiste  (B) Opemistic (C) Optemsstic (D) Optimisti
16, Meaning of idiom “To go at each other hammer and tonas® is

(A) To fight with weapans

(8] To argue noigly

(C} To bug ench other %ﬁ

(I3 To 2o crary sboot meetng each diber
107, e wmon fasa .

(A) %4 HR By %+wTa (C) W+ 33 ) fi+mm

108, ‘qed Swnad

(A) FEET (B) s=woma (C) o= (D} iy
109. e dwEmd:

{A) % (B) 73 ) = (D) =
110, “THEOC wr T |

(A) 3FH (B) w9 (C) Fa8 (D) vt

111, ol e e §
(A) mEFF (B) =dfm (©) e s (D) wsErEem

o e —T——— ) - ey | ™ e =
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112. Which insulating material is used as hot pouring compound for making
joints in underground cable ? ‘

(A) Polyamine hardener (B) Cast resin compound
(C) Bituminous compound (D) Epoxy cast resin compound

TR e 3 g T 3 R A e AP ¥ w9 R et veed 1 s
TR ? |

(A) Uielioi w3 | B) Tl i s
(C) Tghrm At (D) et zert A A

If field current is decreased in shunt dc motor, the speed of the motor
(A) remains same(B) increases. (C) decreases. (D) None of these

3l 712 Sieft e i @ v QY R, A e TR

(A) FHEAR I B) AR (@R (D) AR
114. Eddy current loss will depends on

(A) Frequency (B) Flux density (C) Thickness (D) All of these
e " w1 feg w fnf st ¢

(A) g (B) WIS (C) Wer (D)_&{ ot

115. The resistance of a conductor of diameter d

diameter of the conductor is halved and its len
will be

= d 3R =T [ F eH S IR R Q 2 | 3R S
TS ZH S T 2, @ why g -

113.

and length / is R Q. If the
gth is doubled, the resistance

W = AT 3R

(AYRQ (B) 2RQ (C) 4rRQ (D) 8RO
116. A capacitor carries a charge of 0.1 Cat 5 V. Its capacitance is
TF G4 5 V)R 0.1 C & T ¢ | T HTiET E —
(A) 0.02F 05F (C) 0.05F D) 02F
@77 Which of the following has no units ?
’ (A) Permeability (B) Moment of a magnet
(C) Magnetic Susceptibility (D) Permittivity
e i frefl e 7 R 7

QTmE () TSI (C) TERRER (D) TR
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118. In a 3-¢p delta connection,
power; if the two watt me
factor of connection will be

T 3-¢ I Tl & Wit W & R 2 atedten vy w s A &, 9 A
et 28.1 |

3 kW 3™ 13.31 kW wgd £, 2 wielver w1 SRy qors 2o -

(A) 0.85 B) 0.9 (€06 (D) 0.4
{&? To reduce hysteris_is loss, we use '
/ (A) CRGO steel (B) soft-iron
(C) laminated sheets (D) copper bars

mmﬁaﬁmm%ﬁmmmmﬁ- .
(A) CRGO &= By R (C) wfmadfe (D) aRNBT

120. Advantages of higher transmission voltage is/are

(A) Power transfer capability of the transmission line is increased
(B) Transmission line losses are reduced |

(C) Area of cross section and volume of the conductor is reduced -

two-wattmeter method i.s ﬁsed to measure the
ters read 28.13 kW and 13.31 kW, the power

(D) -All of these :
TR G dioedl BI/F AW R/E—
(A) GIOTSEA AR S A R 235
(B) &eRw o115 gifai vm &e € | | -
(C) aTeT =1 AT -hIE G 3R T 1 BT 2 |
(Q)L 4z aft

121. Which among the following lamps has the maximum burning hours ?
(A) LED B "~ (B) Incandescent
(C) Metal halide | (D) Compact Fluorescent

53 forg v & srfrepan oo Tv § 7
(ALLED (B) TUEra
©) o demee (D) @& Nodrfie
122, 0j ;6 Provided in an oil filled transformer for

(4) borp cooling and insulation (B) insulating
3 lubricatjon (D) cooling
(Mjfm S # et W e e & -
o mwmﬁ%m (B) v ¥ fmy

— (D) ¥ & fr

m‘““—-—‘_—

10 Fa P PR X 8 - —



123. The running winding of a single phase motor on testing with meggar is
found to be ground. Most probable location of the ground will be
(A) at the end connections
(B) at the end terminals
(C) anywhere on the winding inside a slot
(D) at the slot edge where coil enters or comes out of the slot
THT Fenl W H T angfodn e F g oo wo-wush grft S R
g ) Faiftes womsy fafy gt -
() R s W
(B) @AW w
(C) e & i argfosm w i ofi
(D) Wi HR W Tl iyt e § 739 w2 a1 amge et £ |

124. The wooden poles well impregnated with creosite oil or any preservative
compound have life |

{A; from 2 to 5 years B) 10to 15 years
C) 251030 years D) 60 to 70 years
mtﬁaﬁn#mz%am I 91 et afwerss fes 3

AfgaEa g |
Ay2ds3d  (B) 103157 (C) 25830=€ (D) 60’ 704

125. Pin type insulators are generally not used for voltages beyond
¥ ivedr & fou ama: f{E ey TR KBS |
(A) 1kV (B) 11kV (C) 22kV 33kV
126. The skin effect shows that

(A) the distribution of AC current is uniform through the cross section of
the conductor.

current density is more at the centre of the conductor.
C) current density is lower at the surface of the conductor.
D) current density is more at the surface of the conductor.

=% IE
(A) AC Ut %1 feratur amere & 1oy e ¥ THEHE R |
(B) T U STeTsh o gy W ATUF 2 |
(C) °T =cd wTetsh H gae WFm= R |
(D)l T Teieh <) {8 T 3Afsh 2 |
127. Powe}{/ fgctor of an electrical circuit is equal to
A
B§ Cosine of phase angle difference between current and voltage

C) Ratio of useful current to total current Iw/I
All of these

aftay o1 TR U E qUE BT @
A) R/Z
fm’ u01 3fit Seean 3 e el HIv A H DR

(C) yﬂmégﬂmlwn%ﬁa@m
(D) F &
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128.

129.

130.

131.

132,

133,

134,

A heater is rated as 230 V, 10 kW, A.C. The value 230 V refers to
(A) Average voltage (B) r.m.s. voltage

(C) Peak voltage (D) None of these
T B 230 V, 10 kW, A.C. % w9 8 fufd & 1 71 230 vaahiat-

(A) e @) s Fwem (©) MWidwem (D) T A T

The effect of sulphation is that the internal resistance

(A) increases (B) decreases (C) remains same(D
TSI 1 YW 6 s iy

@ @l (@) w@rl (O FAA A E | (D) T A P

As compared to constant-current system, the constant-voltage system of
charging a lead acid cell has the advantage of .

(A) reducing time of charging (B) increasing cell capacity

(C) Both (A)and (B) (D) avoiding excessive gassing
W-mw@ﬁmé@-@gﬁaaﬁaﬁmaﬁﬁw-ﬁmm&

ameg-
(A)wéﬂ%mﬁmmﬁm (B) &t 1 AWEA G FH
(©) (A) 3R (B) T (D) 3Tt e B el

Which of the following meters has a linear scale ?

(A) Thermocouple meter - (B) Moving iron meter
(C) Hot wire meter (D) Moving coil meter

B 5 3 Fpg e o Y AT R 7
() T (B) S () T (D) S et e

The resistance can be measured most accurately by

) None of these

(A) Voltmeter-ammeter method (B) Bridge method

(C)_ Multimeter (D), Megger «?&

T 3 e aPA & A1 1 AR 8 o

() Frehm-mTehEn (B dgRe

(C) weinf (D) ¥m

Which instrument has identical calibration for AC as well as DC values ?
(A) Hot wire type (B) Moving coil type

(C) Induction type (D) Moving iron type

o8 39 8 A.C. % srfefim D.C. Al o foTe aefm S g 8 7
(A) TATMIT (B) @ FvEc TwI(C) TR (Y1 it 2w

Average resistance of human body is

wa T F1 3iea sfady -
(A) 500 0hms  (B)\ 000 ohms (C) 1500 0hms (D) 2000 ohms

— e —— — ——
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135. The current carrying capacity of cables in D.C. is more than that in A.C.
mainly due to

(A) Absence of harmonics (B) Ngn-existcx;cg Ofl ax:y stability limit
(C) Smaller dielectric loss (D) Absence of ripple

Tera: g FRor &l 6 a9 & D.C. H A.C. @ AfF et 3 7

(A) T it srqufeufa ~(B) Tt vnfyrm dim 1 3T

(C), TG &I (D) Hfifer 6t srafeafy

136. A 3-phase synchronous motor is running clockwise. If the direction of its
field current is reversed

(A) the motor will stop

(B) the motor continue to run in the same direction

(C) the winding of the motor will burn

(D) the motor will run in the reverse direction -

T Frshett gt diet <o =t @ R | af seht @ g Y g w5 I
P g, @

(A) TR TH A | e 36t fean & werdt et 2 |
(C) Wi it argfosT ster smanfY | X It feam & wenft |

137. A pony motor is basically a

(A) small induction motor (B) D.C. series motor
(C) D.C. shunt motor (D) double winding A.C./D.C. motor
N Aex Hedd: 2-
(A) 9 3T HX (B) D.C. %vft oYex
(cyzac. e HieX (D) &l Fueeht A.C./D.C. Hix
138. Which of the following is not a source of power ?
(A) Thermocouple (B) Photovoltaic cell
(C) Solar cell (D) Photoelectric cell
fejasnmaRsraaEie ?
(AY TTagm (B) YhNEIY A
(C) ®R &= (D) mIfagy
139. Single phase induction motor usually operates on
(A) 0.6 power factor lagging (B) 0.8 power factor lagging
(C) 0.8 power factor leading (D) unity power factor

IOT AT 979 TaTfeTd ﬁ‘(-ﬁ 3 - |
(A 0.6 T Toreh Fe=rmft (B) 0.8 V1 0T Trrf

(C) 0.8 wfet 7[oTeh 3t t (D) . T W o
Code No. : C-812/2022/Serles-C 22 — —_




140. Magnetism of a magnet can be destroyed by
(A) heating
(B) hammering
(C) by inductive action of another magnet

g{)ﬁAll of these
TES BT T T8 a1 A1 Feher1 & -
(A) T gRI (B) ©ATATS &I

(C) =T g h e Forar g (D) _zrat gra

141. A permeable substance is one
(A) which is a good conductor
(B) which is a bad conductor
(C) which is a strong magnet
(D) through which the magnetic lines of force can pass very easily

T gEie g 98 8 Sl

(A) g ¢ |

% ngals%l
(D)_ﬁmﬁ@mgtamaai@ﬂMﬁgmm%l

142. In a Y-connected source feeding a A-connected load, .
(A) each phase of the load has one-third of the full line voltage across it.

(B) each phase of the load has two-third of the full line voltage across'it.
(C) each phase of the load has the full line voltage across it. -

(D) each phase of the load has a voltage across it ef?ual to \/5
T A-GAd MR &) {1 T I1A T Y- - .

(A) WR I Ve el $HF TR Y AT ateea i Th-{ET e R |

(B) W&} el FeAl §6% IR U @1 aeean B Q-foE SRR | -
(C) YR I Fel 3qF IR QU A A AR
(D)_SCHr S el 36 TR aieedl /3 o T gt & |

143, Fora purely inductive circuit, which of the following is true ?

(A) Apparent power is zero
(B) Relative power is zero

(C) Actual power of the circuit is zero -
(D) Any capacitance even if present in the circuit will not be charged

T Y[ 3t ity % R A A AP AR 7 |
(A) Tt wife =1 €t 2 |
(B) aTifarer v Y Bt & |
(Q) e 1 areafers Wiy 2 AR 2 |
___ (D) =¥ wrfcen, =@ ftqy 3 gufra &, afi T £ |

— — — — —
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144. All the rules and laws of D.C. circuit also apply to A.C. circuit containing
(A) Capacitance only (B) Inﬁuc;a}r:ce only
(C) Resistance only (D) All of these
D.C. uRay & woft fram 3k it A.C. 9RTY T oft A A € |

(A) FFauiar (B) Faw e (O) e ey (D) wah
14S5. An instrument which detects elettric current is known as

(A) Voltmeter (B) Rheostat %C) Watt-meter (D) Galvanometer
T Y61 SN Frege wmn B Sy e R, 39 S o 2

(A) Sl (B) wmifEs  (C) st (pa/ﬂﬁa’rtﬂa

146. Two resistors are said to be connected in series when
(A) same current passes in turn through both
(B) both carry the same value of current

(C) total current equals the sum of branch currents
) sumofIR d

rops equals the applied e.m.f.
A 7§ R o the 2ppli
(A) I8 BT THH g o B |

i1 9T 1 S 01 T8 14 8 |
(C) Tt U WITET griedl & A7 & SR B R |

(D) IR 9T 1 917 YJ& e.m.f. % TR SATR |

147. Slip rings are usually made of

(A) Copper (B) Carbon
(C) Phosphor bronze (D) Aluminium
i 9 gTa: o4 Bl @

@(A) HTR (B) T Q) FErsa (D) Ygfifem
148

A 3-phase induction motor delta connected is carrying too heavy load and
one of its fuses blows out, Then the motor

A) will continue running burning its one phase.
B) will continue running burning its two phase.

C) will stop and carry heavy current causing permanent dam

i ) e har to et dat age to its winding.
D) _will continue running without any harm e winding.
m%méﬁﬁaﬁm%ﬁam&mmmmm@%aﬁtmw
WS $e A1 8 | T9 HI

(A) TG%F TTeTd Th &l o QY Tei-1 9 W@ |

(B)/§8% Sietd €1 %ot o /1Y =1 ST Tt |

(C) % STt 37N 3aeh AT5TU8T <hl Tl WU 0 el I3 Wiy weq uf |
(D) arzfeen @\ farn foreht mfar 3 <rern <l 1@ |

149. The number of slip rings on a squirrel cage induction motor is usually
A) Two (B) Three (C) Tour (D) None of these
ot SR Hiew H A nﬂaaﬁ?ﬁl%%—

(

(A) (B) = (D) i d 2 7
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150. Part of the transformer which is most subject to damage from overheating is-*

151.

153.

154,

155.

. {Vhe

(A) iron core (B) copper winding
© Wmdmg insulation f‘ ramc or case

mwmﬁm‘émﬁ%
(A) IFH HR g/;ﬂ
(C) STEfoET T=gevm 5w arere S

Buchholz's relay gives warning and protection against

(A) electrical fault inside the transformer itself

(B) electrical fault outside the transformer in outgomg feeder
(C) for both outside and inside faults

(D) None of these

ﬁmﬁaﬁw%m:ﬁaﬂtg{mmm%? B
A %ﬁmﬁga P 255
(B) Y 3 2T o STt e w7 ,
(C) =Tl ug T=ites W: M1 & fre
(D) T4 § HIE T

. Which material is used as wedges in winding process /

(A) Emplrer B()E\'ﬁg%ﬁ% ﬁ%q(l%ef H?Tn;'g’?#ﬁm %(D) Terylene’

(A)@m B) #A  (@QAw . (D) We

What is the other name of frequency converter ?
gA} Rectifier L ng D.C. chopper

C) cyclo converter D) D.C.to A.C. convertey e

3 FIATTIRIE 7 . >
(A) -3 (B) D.C.9™
(G AT~ (D) D.C.® A.C. v
What is the full form of PWM ? ;
(A) Pulse Wide Modulation gB; Pulse Width Modulation
(C) Phase Wide Modulation Phase Wldth Modulation
PWM %1 [0 5 1 § 7 - '
(A) 7o AT5e HisgeIH ( g AieRvA
(C) = 152 HieerH (D) % forgy mﬂﬁm
Ohm's law is not applicable to
(A) Semiconductons 513; D.C. circuits

Small resistors D) High currents

e 7
A (B) D.C.uRwEl (C) wIRAYR (D) = uwad

re Square wavc invertors are uscd ?

mﬁ" (B) TV receiver (C) DVD player (D) General lighting
g7

(A) B2 (B) aaﬁ = (G)/Qé'éﬁ lﬁﬂ'{(D) WW&”

S — e———
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157.

1S58.

159,

160.

161.
162.

163.

@)

16S5.

What is effect of A.C. induction motor if rotor bar is in open circuit ?

ibrati Motor will not start
Eé; K\l::\r:til::lgfvs?;id EBD)) Over heatir_xag of motor
TH. WY AR FT A IME A R IR A B @A Rau T 7
(M/g% T HH (B) Hrex e A& gt |
(C) Wi nfydiaechid (D) w1 Af a9
Which relay

hold their contacts in portion after power is cut off ? .

(A) Readrelay (B) Current relay (C) Voltage relay(D) Latching relay
aﬁqmﬂéwﬁtm—m%mmﬁaﬁaﬁmmt? _

A) d=tS (B) W& (©) == P& (gg/ﬁi%nﬂ-é
How the rupturing capacity of circuit breaker is rated.?
IR it Y Sfvemo

gar Fa Pruitg ?
(A) KVA (B) Kw

~( MVA (D) KVAR
Four 100 W bulbs are connected in parallel across 200 V supply line. If one
bulb gets fused, then
(A) No bulb will light (B) All the four bulbs will light
(C) Rest of three bulbs will light (D) Both (B) and (C)
SR 100 WSS 200 V i #1157 3 TR @R 3 512 & | fE OF we" A A IR, A
(A) TS - (B) vt 9R wew Wi |
(C T =9 s | (D) (B) 3R (C) =t

How alternators are rated ?
Ba € ?
(A VA (B) KwW ) Mw (D) KV
Calculate the speed in r.p.s. of the 2 pole,50 Hz alternator. -
2 ¥4, 50 stimﬁa#r.p.s.ﬁamﬁmaﬁrmn |
(A) 50 rps (B) 100 rps (C) 1500rps (Y3600 Ips
1 microvolt is
1 ATEREeE & — S o
(W AXX103V  (B) 1x104V (C) 1x105V (D) 1x 106V
Speed of hydraulic elevator is »
(A) 1m/s (B) 2mss (C) (A)and (B) (D) None of thes
TR AT R TR~ ® -
(A) 1mvs (B) 2mvs QA M B) D) w0 a w7
Which is used as electric drive in electric traction system ?
A} Petrol-powered gi From a diesel engine running
C) From battery runnin D) All of these
Yo Srvnr—ﬁr% frega q%am F w Y TART AT R 7
(A) E-grEE 4 (B) TSRy
(C) T I==a .

©) e wh
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166. Efficiency of Steam engine drive

(A) .8 to 10% 0 0, 0
wﬂmwaﬁq%gio to35% (C) 50% (D) 60%

(A) 8] 10% M A35% (C) 50% (D) 60%
167. E% );)(%ggc electrification system opex('tg;ngéglg;ge is

0 V to 3000 V d(C

i 3 (D) Bgt-ll (B) and (C)

(A) 415V (B)-600 V

(C) 1500 V& 3000 V () (B) 3 (C) 3

168. Types of train service

(A) Online services (B) Urbén services

(C) sub-urban services (D) Both (B)and ©)
3 afef & ¥R -
(A) HieTs afaast (B) A afas 5{&
(C) Ta-37E Wi (R)_AB) 3T (C) 3

169. Element of speed time curve

) Initial acceleration

(A) Coasting
(D) All of these

(C) Constant speed

9T -GHd T 1 AT
(B) TR & (C) fraae (D) g

(A) dEgTEA

170. In speed time curve representation area inside of the speed time curve
represents that "
(A) Acceleration of the train
(B) Time taken by the train .
(C) Distance travelled by the train

d
B e Spegam—maﬁas e Frequr &= oo 8 —

e -q9g
(A) =TT (B) ¢ g foran mn wRY
€) Fgraet g (D) =t | o

171. In Main line service . .
(A) Acceleration and braking periods are long

(B) Acceleration and braking.pcriods are short
(C) Free run and coasting periods are long

gg) Both (B) ﬁand ©

AT
(A) amaﬂtﬂmm'aﬁﬁl ( iR FEBRE |
__© e <o SR e Pt T € | (D) (B) 3 (C)
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172, The main line service distance between two stops'is

(A) 5km “© v (B) 10km I
C) 5to10km (D) Morethan 10km - -
wf % o R e e gl 2 -

A) Skm  (B) 10km (gﬁalom (D) 10 km @ ¥,

173, Which braking involves suvmg energy ?

Dynamic - (B) Plugging * (C) ‘Regenerative (D) All of these
%qemmm v »

B) @ (@/ﬁw | 0) w®h

174, Whlch of this is mechanical braking ?

A) Pneumatic braking (B) Plugging -
3;:% Dynamic braking , (D) Regenerative braking' '
EET mmﬁﬂm 2
pAffwIm @) W ()T gasheam

175. Whlch of these is the method of electrlc brakmg? | -
%2 Dynamlc gm Plt‘;é%n Regeneratwe(D) All of these

(A)ﬂﬁvn' B H . (C) THE (D)/mﬁ

176. Which motor is miore suitable for tracnon service 7

(A) DCseries motor (B) DC shunt motor

. (C) Single phase AC series motor (D) Three phase mductlon motor |
- 0 ) e i e mam?@ﬁ%? .

A o} A B) 4. wenew
( ) WA FM A, AR ﬁmﬁm\a
177. Senes motor is more suitable for whlch of the following 7 _
A) Urban services ©. (B) Sub-urbanservices '
gnﬁ ) Main line services (D) All of these SR
Wﬁﬂﬁﬁmmmwﬂﬁ%? KA
. b W'mﬁﬁ N
( meﬁeﬁ | . ( ) Tl

178, Train schedule speed can be increased by which of the following 9 ?
(A) Increasing the acceleration and retardation
(B) Increasing the crest speed |
(C) Decreasing the duration of stop
(D) Allofthese
iﬂ Wﬁﬁﬂﬁﬁmmmmm%? . ‘
(A) TOETATER - (B) AR Rwgm
C) MHwmhmwmFE -~ (D) Wl
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179. Which is not frequency of single phase low frequency system ?

(A) SOHz (B) 25Hz
(©) 16(2/3) Hz (D) Both (B) and (C)
W H ww wen fs sy somen ) smafy e 8 7
(A) SOHz (B) 2§ Hz
(C) 16(V/3) Hz D)~ (B) 3l (C) 2
180. Which of the following element is not used in an automatic control system ?
(A) Final control element (B) Scnsor
C) Oscillator D) Error detector
¥ Q Ry e w1 @ o o mmu‘m ?
(A) ¥R fraam = (B) waTH
(2 (D) e wqaF 7
181. Which of the following is an open loop control system ? |
(A) Ward Leonard control (B) Metadyne
Stmboscopc (D) Field controlled D.C. motor
A N i gl Trw g yorett R 7
(A) aré W
(C) RE=N e &, A
182. LVDTisa
(A) Inductive transducer (B) Non-Inductive transducer
(C) Capacitive transducer (D) Resistive transducer
( FALEC (B) 3TRIF TR
(C) e TAggeR (D) Sl TroR
183. Which of the following is an Analog transducer ?
(A) Encoder (B) Strain gauge ‘
(C) Digital tachometers N (D) Limit switches
|1 T ;msqgt [4 '
W&’ﬁ (B) ®AN
(C) fefaea tanfizt (D) fofe =i

184. Which of the following can be measured using Piezo electnc transducer ?

A) Velocity  (B) D;splaccmcnt%C% Force Sound
g’mmm wmmmm ?
(A) an B), fatgm  (C) & (D) @R

-

185. Which js-used 10 prev ( the oscillation in moving system ?
(&) oy sy zr;“:fa"%‘"*g
system cllecting
Wmﬁmﬁzﬁﬁ%mﬁm‘ﬂ 1?7
(A) TEA TR (B) o (C) rawed Yorehl (D) fardrdy

e T e e e e s e e
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186. What is the span of an ammeter with range -30to +30 A ?
30 ¥ +30 A @ Tl et o & e R 7
(A) 60 (B) 460 (C) 30 (D) 20
187. Which of the following method of measurement does a bridge circuit uses ?

A) relative (B) comparative (C) absolute (D) differential
%Wﬁnﬁéﬁawwﬁwm ?

(A) "y (B) g (C\Aww (D) fdd
Which of the following is the main objective of process control ?

(A) to control electrical parameter  (B) to control optical parameter

g; to control physical parameter (D) to control mechanical parameter
AP W v e e s R 7

(A) {37 yee ¥ P & R (B) TR Wreet o Fraaor s frw
(C) ¥t Wt & fraw & frg (D) Iih e & fdm 3 Rye
Vibrating reeds are used in which of the following instruments ?

(A) Power factor meter (B) Frequency factor meter
(C) Wattmeter

) Synchr '
mﬂgﬁnﬁﬁm:ﬂmﬁmggﬁ% e

?
T B
© qiedieX (D)

190. The pointer of an Indicating Instrument should be

188.

189.

(A) Very light (B) Very heavy

(C) Both(A) and (B) (D) None of these
ITH] 1 WL BT IR —

(A ERER (B) aga Tt

(©) (A) 3 (B) 3 (D) FH & H 7

191. The most commonly used input signal in control system is/are

A) Step (B) Ramp (C) Acceleration (D All
1%111)3'7! ¥ gaifue SR TS Y R /3 At

(A) (B) wau (C) =W
192. A controller essentially is a

(A) Sensor (B) Clipper

& s TER

(A) 4 (B) % ©) T (D) ks

193. Bimetallic thermostat is controller.

;A) on-off (B) zero tc;rm_g | (C) oneterm (D) two te;rm

(A) -5 (B) I (C) R (D) Aax
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194. 'lf‘{t;nsl‘gn.nc.r cores are lnminnted in order to e
(A) minimise eddy current loss (B) reducc cosl

(C) simplify its COI\S&;\IC“O&I i U\lfgg) reduce hysterisis loss
. Lk I
(AY T ur W w0 A (B) @ e
(C) Yo | W) §E H (D) fretfira wifs Tz
195. In the left hand rule, forefinger always represcnis
(A) Voltage (B) Current
©) Mn&;ﬁc ficld (D) direction of force on the conductor
T W frm 8, st e g f -
(A) qreea (B) ¥
(Cy_T=m &% (D) =TT T T i fem

196. The power factor of an AC circuit is equal to
(A%-—cosinc of the phase angle (B) sine of the phase ang'lc _
(C) unity for a resistive circuit (D) unity fora reactive circuit

e ., IRy 1 TR 0T s F g &
(A) mm%aﬁmﬁm (B) Al il & HIEA

(C) iRt afqy < ferg T (D) wieradt aftqe & ferg T

197. LED stands for /
(A) Light Emitting Devices (B)y—Eight Emitting Diode
(C) Light Emitting Disc (D) None of these
LED 1 areqd 8 = .
(A) wrde Zfufen feamed (B) @iz FfeT TS .
(C) wme gfufén fewr (D) T & FI% T e3

198. Feedback in an amplifier always helps in L
gA} increasing its input impedance EB% Increasing its gain
C)._ Controlling its output D) Stabilizing its gain
T Jaus® o 31\1%01 TR TETd] U 8 _
(A) s Fah i gg@ 4 (B) Taeh wfet ag A

(C) wa faria o o (D) T8 ety frfietor o
199, An ideagt Amplifier has
g,«?/ﬁfggsc figure of 0 dB EB} Noise figure of more than 0 dB
C) Noise factor of Unity D) Noise figure of less than 1 dB
ua el Ay d Bl R - .
(A) 0dBH @ AF (B) 0 dB @ it w1 7@ IF

(C) U 1T 3Th (D) 1 dB @ %W F W 3

200. The decibel is a measure of
A) Current (B) Voltage (C) Power (D) Power level
zqeh] 19 & —
(A) a1 (B) dieed (C) wfaa (Q)_¥He &

—— e e e . —— ———
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